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Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
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BIOLOGY (Theory)

Hatase  (Rrem=a)
(314)
Time : 3 Hours] [Maximum Marks : 80
o SRR L [t : 80
Note : (i) This Question Paper consists of 30 questions.

(i1)
(iii)
(iv)

15 CE) SR €)
(i)
(iii)
(iv)

All questions are compulsory.

Marks for each question have been indicated against it.

Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No separate time is allotted for
attempting multiple choice questions.

39 UST-U F 30 UeT ¥ |

afl wed afEd ¥

UA% UeT % oih IUk AW I T E |

T HHIG 1 H 8 A% & TP W H AR faswed — (A), (B), (C) &R (D)
@ ¥, 9 e qaitus Sfad ¢ | 9 fasedl | | "8 SaX g qen
O TA-GRADB! H 9T HHh & G gy | Sgiamedl 9ol & o o
¥ 999 & foar smem

1  Which of these plants exhibits Saprophytic mode of nutrition ? 1
(A) Monotropa (B) Cuscuta
(C) Nepenthes (D) Money plant
frafafea dral & & HE-—a1 gasiel 9o goar ¢ 7
(A) (B) ®tpa
(C) =it (D) HEAE
2 A baby is born with a genetic disorder. His cells have 47 chromosomes 1
and his karyotype is 45 + XY. Name the disorder he is suffering from :
(A) Sickle cell anaemia (B) Turner’s Syndrome
(C) Down’s Syndrome (D) Klinefelter’s Syndrome

Teh 31y ST W 2 SN e € | 6% Ul ol §E 47 & qOT hiEeEy
45 + XY 2 | gz fuyg fm oo @ 7 § S@er AW T

(A) e ¥@ TfmEn (B) = fr=m

(C) smea fasm (D) FETheX g™
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3 Which of the following is a broad spectrum antibiotic ?

(A) Penicillin (B) Erythromycin
(C) Paracetamol (D) Streptomycin
frfafad & @ s 06 us Wagd dEEmEes & 7
(A) ufRef (B) uhumER
(C) Urtrerie (D) wWemERE

4  The cellwall is made up of a chemical which is unique in bacteria.

Name the chemical.

(A) Peptidoglycan (B) Chitin

(C) Lignin (D) Cellulose

Sty (S @ wifyeetata ue fafie e @ a9 B 3, frder 9w R
(A) ufizsrarhT (B) wwEfed

(©) foif (D) et

5  Which of the following antibodies is present in Colostrum that provides

immunity to the new born infant ?

(A) IgG (B) IgE
(C) IgM (D) IgA
T ¥ HEA-u ufoRell B ¥ S qeema frg] @ wforem weM @ ¥ 7
(A) IgG (B) IgE
(C) IgM (D) IgA

6  One of your class fellow put some dry grams in water overnight.
Next morning it was fully swollen. Name the phenomenon involved.
(A) Osmosis (B) Imbibition
(C) Plasmolysis (D) Diffusion
AT TH TS ¥ BB % (@) T ¥ T A wh ¥ o w% R F R
B @ | oFel WId: SEY @l {6 9% W O WU §A T § | 39 HeEe

®H AH O -
(A) TEI (B) i gTreoT
(C) SiEased FHad (D) fagor

63/0SS/1-314-A | 3 ﬁ [ Contd...



7  What does the following sequence represent ? 1

Blue green algae — Crustose lichens —
Shrubs «— Mosses « Foliose lichens <«
Dicotyledonous Plants.

(A) Genetic Drift (B) A food Pyramid
(C) Ecological Succession (D) Phylogenetic trend
= wa wn fafkee (Frefa) & & 7

9w i A — 1ilma f% (dEehT)—
|: V(—W(—qﬁiﬁ%

%‘eﬁms?r I8
(A) e e (B) T wWE RIE
(C) TiiRerte erggmweT (D) snfagea wqfa
8  Which of the following is an example of an Arachnida ? 1
(A) Centipede (B) Cockroach
(C) Nereis (D) Spider
/=1 & ¥ @ TRFST @& e § 7
(A) HIdrs (erqumel) (B) fomEea
(©) @ (D) HeB
9 (a) Write the name of the hormone secreted by the Human Placenta. 2

(b) Write the name of the hormone which stimulates the development
of male characteristics during puberty.

(a) 9MT U (wEe) T GG WA w1 A faiay |

(b) TG MM @1 94 faRau & Ay (fpstreren) & 9w (AR) @@l & faem
H I BT T

10 (a) Expand the abbreviation PEM. 2
(b) Write the Name of one disease caused due to PEM.
(a) €dwaR 'PEM' @1 fowga ww fafew |
(b) PEM & &R B o fpel Teh I &1 AW fafaq |

11  Where can you locate the following structures in plants ? 2
(a) Perianth
(b) Bulliform cells
gt frefafed §XEC @8l U Sl § 7 S9el SEnRgfa farag
(a) diEd g
(b) geelieH BB
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12 Distinguish between Mutualism and Symbiosis. Write one suitable example 2
of each from animal world.

FEUHBINAT qAT Teolitaar & 9a X (A9g) *ife | wiere § Jde &1 T
U I A faRaw |

13 Name the Phytohormones involved in the following functions : 2
(a) Prevents aging in plant parts.
(b) Closing of the Stomata.
frafafad gl & ¥@@ wReRmE & 9w fafae
(a) gl & S @I Siefdr @ UehdT ¥ |
(b) WH (Y) & < BFAT |

14 Distinguish between Antigen and Antibody. 2
gaew (Weem) qunr wfafis (daere)) § fade #ifg |

[\®]

15 Draw a neat and labelled diagram of an Open Stomata in a Dicot Plant.

% G 9 % gd (9 B @9 Ud AWied A 99EY |

16 Expand the following abbreviations and state how are they useful in 2

daily life ?

(a) CNG

(b) PNG

Preffiaa demeard @1 g0 frga w9 ¥ fafaw qon 3R e ¥ o SuEiTE

H ST BT |

(a) CNG

(b) PNG

17 Why does insectivorous plants eat insects, when it is capable of carrying 2
out photosynthesis ?

Ty Hedell WY Yoyl S B § geg €, Ay ot 9 @ @1 Wt ot
B E 7

18 Draw a neat diagram of a longitudinal section of a typical flower and 2
label the four whorls.

T YTE(Udh O & TEaq S B & [ 99 T6T 3a% a1 ol dl AHiThd
BT |
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19 After a surgery, a man was advised to include more proteins and Iron in 2

his diet. Give reasons and also mention one source of each nutrient.

9 Taferedt & ST gTfard TR @l oTae oMeR | W ar @ie (STR) @i offerh
AT ©F & A€ & T3 | 58P B0 fRaT U7 e W 1 Ueh-Tdh i [y |

20 Name the surgical methods of Contraception in human male and female. 2
Also mention the basic procedure involved in the two methods.
Ag eV e ol # Ty @ e oty % AW faiey qen aF gemtaar
SR i &1 Seei@ Hifg |

21 (a) Where are the two biodiversity Hot-SPOTS found in India ? 4

(b) Distinguish between In-Situ Conservation and Ex-situ Conservation.
Also write one suitable example of each.

(c) With the help of a suitable example, define the term Endangered species.

(a) 9T ¥ A JAafafguar ‘ee-wWie ®af Rug ¥ 7

(b) TRYM HIEAT TAT TR WMH WAV b g9 oiqy wWifig BN | YAEw Bl
UH-Tdh Sareeu 1 fafaw |

(c) YT SeEXW & WEEdl § Hehau= YSliedl @ g fafay |

22 Briefly explain the various steps involved in the mechanism of DNA 4

replication. Also draw a diagram to show the formation of new DNA strands.
2w (DNA) ufagphaes & fafa= oo &l saes diia amen fafae | 7@ DNA
% M & WA & smErde HEuur @iy |

23 (a) What are Vaccines ? What do you understand by second generation 4

vaccines. Write the names of any two diseases for which these vaccines
are already in use.

(b) Expand BCG and Mention its usage.

() <er FME 7 TEa UGl % e W Y T GAAd & 7 UH & UM B
T fafew fh fe g swam feer <o ¥

(b) BCG @1 qu M fafgw qur 3@ SWrT &1 Si@ DY |
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24 (a)
(b)
(a)

(b)
25 (a)

(b)

(a)

(b)

With the help of a flow chart, show the non-cyclic
Photophosphorylation taking place in Photosynthesis. Mention the
products formed in this phase.

Where does this process takes place in plants.

T FATE A1 %I TEEAT F YBIYT AT F ST TR BRI A TB 0T TohH
H ARAT HINT | 38 UEhAT § 999 910 SR Bl e BT |
il H UE UHH Hel W9 BT e 7

Draw a neat and proportionate diagram of the Female Reproduction
System of humans. Label its four parts.

Where does the following processes take place ?

(1) Fertilisation

(i1)) Implantation

HEE % W& S qF B e Ud Sguiie fus 99T 991 369 fhel |
it % T faRag |

el wehw wel "ot B ¥ 7

(i) o

(i) TS

26 With the help of well labelled diagrams distinguish between :

(a)
(b)

Androecium in Peaflower and Hibiscus.
Venation in the leaves of Dicot and Monocot plants.

Tmited fadl & @eEar @ = & 7 S WE @i

(a)
(b)

27 (a)

(b)
(c)

(a)

(b)
(c)

63/0SS/1-314-A | 7 ﬁ [ Contd...

HX % YHT qUT [EEA b GHT
fEdio= qonr uedewEn el @ ufaal § Rrafam |

With the help of a flow chart describe the steps involved in the
Coagulation of blood.

Why is a person with blood group 'AB' called a Universal recipient ?
Give an example of a lymphoid organ ? Name the two major types of
cells present in them and state the general function they perform in the
body.

YATE TTE ! Tl ¥ T & UhTeh 0T (STH) Dl Wisham & fafi= a<on &1 quie
HINT |

BRI @ — 'AB' 9@ Afgd bl WERG (WMGE) el I hEd & 7
forell wHienT o7 1 Sarexwr fafay | 379 SURYT a1 YR @l THE BRI &
T fog T R H % Y fafaw |




28 (a)

(b)

(a)

(b)

29 (a)
(b)

(c)

(a)
(b)

(c)

30 (a)
(b)
(c)
(a)
(b)
(c)

Explain the Sex Determination in Human. Differentiate between
Homogametic and Heterogametic individuals.

A colour blind man marries a woman who has normal colour vision.
A son and a daughter born to them are colour blind. Explain this with
the help of a Self explanatory flow chart .

799 ¥ i faiRe @ e Sife | gugrw qur faumgmel & S e
WE HIWT |

TH qUiY G @l e Uh gmey av HAd e % W g ¥ 1 3% T
U Td UHh QAT @ S BT %, IM1 &l §aW auig § | 39 qieEeT @l e
YA e @ GEEal § B |

Write the four main characteristics of Phylum Chordata ?

State one main difference between Chondrichthyes and Osteichthyes and
give one suitable example of each.

Write the scientific names of the following :

(i) Tapeworm

(i) Moss plant

T (WEEH) Hisd & AR J&I Staen farey |

FivgFS qoT SAReFd™S § Th J@ [auares sivaeae fafae dor g
B Th—Uh T Ieew A faRag |

frfafeq & dete ™ fafag

(i) e b

(ii) #E &1 9E_Y

Draw a neat and labelled diagram of the Excretory organs in humans.
List the role of liver in Excretion. (2 points)

Write the name the excretory organ in Cockroach.

g & IS S T AMihd O ST |
IS H AP Bl BT b B3 & Tew@qu MM fakag |
fomaeer (@ieid) & Iaeid of T @1 A9 fafaw |

<
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BIOLOGY (Theory)

Hatesm (Ram)
(314)
Time : 3 Hours] [Maximum Marks : 80
T 3 A [qori : 80
Note : (i) This Question Paper consists of 30 questions.
(i1)) All questions are compulsory.
(iii) Marks for each question have been indicated against it.

(iv)

15 CE) SR €)
(i)
(iii)
(iv)

Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No separate time is allotted for
attempting multiple choice questions.

39 UST-U F 30 UeT ¥ |

afl wed afEd ¥

UA% UeT % oih IUk AW I T E |

T HHIG 1 H 8 A% & TP W H AR faswed — (A), (B), (C) &R (D)
@ ¥, 9 e qaitus Sfad ¢ | 9 fasedl | | "8 SaX g qen
O TA-GRADB! H 9T HHh & G gy | Sgiamedl 9ol & o o
¥ 999 & foar smem

1  Which of the following is a broad spectrum antibiotic ? 1
(A) Penicillin (B) Erythromycin
(C) Paracetamol (D) Streptomycin
frfafad & @ s 06 U Wagd dEEmEed & 7
(A) UFREE (B) uRgmERE
(C) Tufemra (D) TWeMERA
2 Which of the following antibodies is present in Colostrum that provides 1
immunity to the new born infant ?
(A) IgG (B) IgE
(C) IgM (D) IgA
Joa H eF-ur gieRel g § S Jawra firyg @ ufeRen wem war ¥ 7
(A) IgG (B) IgE
(C) IgM (D) IgA

63/0SS/1-314-B | 2 ﬁ [ Contd...



3 What does the following sequence represent ?
Blue green algae — Crustose lichens —
Shrubs « Mosses « Foliose lichens «—
Dicotyledonous Plants.
(A) Genetic Drift (B) A food Pyramid
(C) Ecological Succession (D) Phylogenetic trend
= w w= faMfe (fefm) & & 07
i T S wddmE de (@mEhT)—
wieal — T — uPiade <
g%‘eﬁmﬁ’r e
(A) et faaa (B) W wE ffs
(C) uiiRufasd agewa (D) wiidg<iE ygra
4  One of your class fellow put some dry grams in water overnight.
Next morning it was fully swollen. Name the phenomenon involved.
(A) Osmosis (B) Imbibition
(C) Plasmolysis (D) Diffusion
3MU% THh TEUEl ¥ FB 9% (@) 9 & TE B I H ST H A & g
BiE & | ol Wia: SEd <@l {6 ¥E I YO ®UO BA MW ¥ | 3@ uREe
H AR F -
(A) ITEII (B) Siq:qmoT
(C) SiEsed gHad (D) fagzor
5  Identify the locomotory organs of starfish.
(A) Parapodia (B) Radiating Arms
(C) Setae (D) Tubefeet
e 9 @ arEE % d9ed fd % S @l Teum &Y fatey |
(A)  raifean (B) famiftia qemd
C) I (D) AUR
6  Which of these plants exhibits a parasitic mode of nutrition ?
(A) Cuscuta (B) Money plant
(C) Monotropa (D) Nepenthes
frafafad & & M- 99 wSiEr &7
(A) BB (B) wHIe
(C) HrHEH (D) SU=dis
63/0SS/1-314-B | 3
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7  The cellwall is made up of a chemical which is unique in bacteria. 1
Name the chemical.

(A) Peptidoglycan (B) Chitin
(C) Lignin (D) Cellulose
Sramy (Feitan) @& st te fafie s 8 a9 2 ¥, fge 9w 2
(A) UleSTeTseh (B) argfe
(€) faf (D) st
8 A baby is born with a genetic disorder. His cells have 47 chromosomes 1
and his karyotype is 45 + XY. Name the disorder he is suffering from :
(A) Sickle cell anaemia (B) Turner’s Syndrome
(C) Down’s Syndrome (D) Klinefelter’s Syndrome

ueh 1y 5T | A NI [ € | 9% UGS ol @ 47 & qT hieEy
45 + XY % | gz farg e fqer @ o @ 3@ AW ®

(A) Toe ¥ THIRET (B) = Rrs™
(C) =T Ragm (D) wTgThee fag
9  Distinguish between Antigen and Antibody. 2

g (TeeW) e widie (dREmE) o favg @i |

10 Distinguish between Mutualism and Symbiosis. Write one suitable example 2
of each from animal world.

TEUHINAT qAT Teolitaar & 9 X (U9g) *ife | wmiera § Jd&e &1 T
% SaERw A faigw |

11 Draw a neat diagram of a longitudinal section of a typical flower and 2
label the four whorls.

T UTE(Udh 8 & TEaq S B & @SS 9 T 3a% a1 dqohl dl AHiThd
HIT |

12 Name the surgical methods of Contraception in human male and female. 2
Also mention the basic procedure involved in the two methods.

qa QoY e ol # Ty @ e [ty % AW faiey qen < gemfear @t
SURYT [Ty &1 S DIy |

63/0SS/1-314-B | 4 ﬁ [ Contd...



13 Expand the following abbreviations and state how are they useful in 2

daily life ?

(a) CNG

(b) PNG

Fretfefiaa damrd @1 o frg ww & fafae qen 3 e F S SwER

B ST DITY |

(a) CNG

(b) PNG

14 After a surgery, a man was advised to include more proteins and Iron in 2

his diet. Give reasons and also mention one source of each nutrient.

9o TafehedT o SURA T IRT @l 81U e H W ar @is (STR) &l afferh
AT @ & GATE &1 T3 | 39% BT fARIT quT Yieh UiV @l Ueh-Teh &I Ry |

15 Where can you locate the following structures in plants ? 2
(a) Perianth
(b) Bulliform cells
gl W fEfaigd dXEE Gl Ui Wl ¢ P Sdel SERdfd farey
(a) few ot
(b) geetrd iy

16 (a) Expand the abbreviation PEM. 2
(b) Write the Name of one disease caused due to PEM.
(a) waWER 'PEM' &1 foega wu fafaw |
(b) PEM &% &RY W a fpel W W &1 9W fafaw |

17 Name the Phytohormones involved in the following functions : 2
(a) Promotes cell elongation
(b) Induces ripening of fruits
Frefatea werl & Tq weU gME % W fafag |
(a) dITemIST & SETHIOT Bl WETRd BT |
(b) wal % YHT Bl URA HIAT |
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18 Draw a neat and labelled diagram of an Open Stomata in a Monocot plant. 2

THAISTIS] G & {8 Dl Goll O § @es qur THiied &5 950 |

19 (a) Write the name of the hormone secreted by the Human Placenta. 2

(b) Write the name of the hormone which stimulates the development
of male characteristics during puberty.

(a) HWE U (wEe) FW Ead e @ A fuRaw |

(b) 3T THM @1 A9 faRaw o Femmry (petreren) & drew (AX) e & faem
& IGEANT BT T |

20 Why does insectivorous plants eat insects, when it is capable of carrying 2

out photosynthesis ?

Ty Hedell WY Yoyl 9@ B § geg €, Ay ot 9 @ @1 Wt ot
B T 7

21 (a) What are Vaccines ? What do you understand by second generation 4

vaccines. Write the names of any two diseases for which these vaccines
are already in use.

(b) Expand BCG and Mention its usage.

(@ T M E T N F NG A W R g ¥ P o D AW B
Tm fafgu R faw s9er SwEm fear o w@T RO

(b) BCG @1 qu M fafaw don 3@ SUrT & Swi@ B |

22 (a) Draw a neat and proportionate diagram of the Female Reproduction 4
System of humans. Label its four parts.
(b) Where does the following processes take place ?
(1) Fertilisation
(i1)) Implantation

(a) HAMT % AIQT S OF B @ TH UGS a7 S8 qo7 3696 b=l an
AR &% AW fafaw |

(b) frfafad whe el §9= 20 ¥ 7
(i) P
(i) e

63/0SS/1-314-B | 6 ﬁ [ Contd...




23 (a)
(b)

(c)
(a)
(b)

(c)

Where are the two biodiversity Hot-SPOTS found in India ? 4

Distinguish between In-Situ Conservation and Ex-situ Conservation.
Also write one suitable example of each.

With the help of a suitable example, define the term Endangered species.
IRd # & Safafagar Fe-wie’ %l Rugd ¥ 7

TR GEOT JAT R WH W b A X Wiud HIY | TdE &
UH-Tdh Sareiu H faray |

TfIA IIEAT B GEAAT F GHAIH Sdl bl G faRag |

24 Draw labelled diagrams : 4

(a)
(b)

A series of stages in the budding of yeast.
Amoeba showing Binary fission

frrefafaa & mifeea fas T98Q ¢

(a)
(b)

25 (a)
(b)
(a)
(b)

26 (a)

(b)

(a)

(b)

A o ggpad &l [afe= sfaramd |
et ¥ fafavaem (e |

Draw a double helical structure of DNA. 4
Write the name of the scientists who proposed this model.

DNA (Situ) @l fagusiaa €@ &1 om@ a5 |

SH Jefe @1 AW fafey e devem 39 isd Bl URga fear |

With the help of a flow chart, show the non-cyclic 4

Photophosphorylation taking place in Photosynthesis. Mention the
products formed in this phase.

Where does this process takes place in plants.

Teh A& TS Bl TEEal I Yh19T GATUT § STIhId Teh1aT BRI Lelh 0T Tehd
B ARIT BINT | 3T Ghar ¥ S99 99 IAGEI BT Seid HIT |
gl ¥ g€ WhH el U= BT § 7

27 (a) Draw a neat and labelled diagram of the Excretory organs in humans. 6

(b)
(c)
(a)
(b)
(c)

List the role of liver in Excretion. (2 points)

Write the name the excretory organ in Cockroach.

AG % S Sl w1 AWifhd fod ST |

IS W IHd B YHHI & Bl A Te@qU IREM farag |
faeager (®1wia) & Ses ST & 99 fafaw |
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28 (a)
(b)

(c)
(a)
(b)

(c)

29 (a)

(b)

(a)

(b)

30 (a)

(b)
(c)

(a)

(b)

Mention the four characteristics features of class : Mammalia.

State the main difference between Metatheria and Eutheria. Write one
suitable example of each.

Write the scientific names of the following :

(i) Human being

(i1)) Wall lizard

FE HAferen & 9 fafie erfirwern @ Swg divig |

Heredifean qon gafar § fqvees yga aau Weg | 9@ @& te-us agea
Iare o) fafey |

Frfaiaa sl & s 9 fafeg

(i) ==

(i) <@ T

Explain the Sex Determination in Human. Differentiate between
Homogametic and Heterogametic individuals.

A colour blind man marries a woman who has normal colour vision.
A son and a daughter born to them are colour blind. Explain this with
the help of a Self explanatory flow chart .

79 | o FaRe 6 e Sy | gl adT faugee & de siat
WY HIWT |

TH U GEW & [qarE U e a9 dOdl S % 9y B 8 | 5% Uk
9 Td TH G & A ol ¢, IMI & HAW Uiy § | 39 qEeT dl e
YaE A8 bl EEdal 9 BT |

With the help of a flow chart describe the steps involved in the
Coagulation of blood.

Why is a person with blood group 'AB' called a Universal recipient ?
Give an example of a lymphoid organ ? Name the two major types of
cells present in them and state the general function they perform in the
body.

YATE TTE ] Tl ¥ T & UhTeh 0T (STH) Bl WiehaT & =T a<on &1 quie
HINTT |

BT T — 'AB' 9l afrd @l Gt (S1fde) SerdT o hed & 7
forell @it ST T 3aTE faRaw | 379 SURed &1 YK @l T@ HIebre &
T fog wT R H 3% Y fafaw |
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BIOLOGY (Theory)

AarE™ (E=)
(314)
Time : 3 Hours] [Maximum Marks : 80
T 3 gw| [quiw : 80
Note : (i) This Question Paper consists of 30 questions.
(i1)) All questions are compulsory.
(iii) Marks for each question have been indicated against it.
(iv) Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No separate time is allotted for
attempting multiple choice questions.
fRar ¢ (1) 3@ AT H 30 WeH ¥ |
(i) AN g9 fEd ¥ |
(i) U&® UST & b SHH MY W W ¥ |
(iv) UST i 1 § 8 T & UAd UeT H AR faswed — (A), (B), (C) 3R (D)
@ ™ 2 T @ waiye shaa © | 9R faedl 9 98 39X g qun
O TA-GRADB! H 9T HHh & G gy | Sgiamedl 9ol & o o
¥ g9 T fen s
1  One of your class fellow put some dry grams in water overnight. 1
Next morning it was fully swollen. Name the phenomenon involved.
(A) Osmosis (B) Imbibition
(C) Plasmolysis (D) Diffusion

Ik TH TEUrSl 7 P8 % (@) I & Il Bl IHT | S[@ HL AT & [@Q
B f&@ | ol Wi IEW <@l {6 ¥E T YO WU B@ MW ¥ | 39 uREe
H AW T -

(A) ITEII (B) Siq: QT

(C) wiE=e g (D) fqERm

Which of the following is an example of a dorsoventrally flattened organism. 1
(A) Neries (B) Ascaris

(C) Leech (D) Planaria
frafafaq & SF-o1 U6 gST Ra: (U8 SR ®Y W) GULT WG T 7

(A) (B) Uwhiw

(C) «= (D) @t

63/0S5/1-314-C | 2 ﬁ [ Contd...



3 Which of these plants exhibits Saprophytic mode of nutrition ?

(A) Monotropa (B) Cuscuta
(C) Nepenthes (D) Money plant
frefafea ol & & -1 gasiar quer grfar 77
(A) T (B) &

(C) U= (D) HTAE

4  What does the following sequence represent ?

Blue green algae — Crustose lichens —
Shrubs « Mosses « Foliose lichens «<—
Dicotyledonous Plants.
(A) Genetic Drift (B) A food Pyramid
(C) Ecological Succession (D) Phylogenetic trend

= w w=n faMfe (fefm) & & 07

97 R A — 1ilmE 9% (dEehT)—
|: VHWHW%

%Eﬁms?rqa
(A) St fae (B) ws wE Rl
(C) uiitRafqes SrgsmaT (D) wfag<iE ggra

S  The cellwall is made up of a chemical which is unique in bacteria.
Name the chemical.

(A) Peptidoglycan (B) Chitin

(C) Lignin (D) Cellulose

Sramy (i) @ wiidwtaa te fafie s 8 a9 e %, fge 9w R
(A) UfeSTemgeh (B) hrgfeA

(C) faft (D) Eeg@s

6 A girl is born with a genetic disorder having 45 chromosomes.
Her Karyotype is 44+XO. Identify the disorder from the following.
(A) Down’s syndrome (B) Haemophilia
(C) Turner’s syndrome (D) Klinefelter’s syndrome
T TSh! ST SANTe bR g ¢ ek Rl (| o d@r 45 % |
SHH! HAREY 44+X0 & | 71 # ¥ 3% oMIaiye faer &l qear &Y faray
(A) =reA Rigm (B) EIiferan
(€) =i figm (D) FrgTheey RigH
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7  Which of the following antibodies is present in Colostrum that provides 1

immunity to the new born infant ?

(A) IgG (B) IgE
(C) IgM (D) IgA
T W DA U B 5 S qeena 1y @ UfoRem Yee i § 7
(A) IgG (B) IgE
(C) IgM (D) IgA
8  Which of the following is a broad spectrum antibiotic ? 1
(A) Penicillin (B) Erythromycin
(C) Paracetamol (D) Streptomycin
frafafed & @ d9-91 e @US WA CISEIed & 7
(A) uRieeE (B) ufeg s
(C) Frierer (D) MR

9  Draw a neat diagram of a longitudinal section of an Ovule in an Angiosperm 2
and label the Embryo-sac and micropyle.

fordll STTgTaTS dre % HISTUS Sl ST HIe B O ST q7 36% YUY Td aH
B Bl i HIfTT |

10 Name the surgical methods of Contraception in human male and female. 2

Also mention the basic procedure involved in the two methods.

qME 9oy wd faal o Tty @ g fafs &% wm fafaw qen W gontesi @
smaya fafy &1 S @i |

11 Draw a neat and labelled diagram of an Open Stomata in a Dicot Plant. 2

% fEaeuE N 6 gd 19 B @9 Td AMiied b SR |

12 Why does insectivorous plants eat insects, when it is capable of carrying 2

out photosynthesis ?

Ty Hieuell W wahreT Foaww B ¥ gy €, R o 9 @ w1 wewr
H T 7
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13 (a) Write the name of the hormone secreted by the Human Placenta. 2

(b) Write the name of the hormone which stimulates the development
of male characteristics during puberty.

(a) THT U (WEI) TR TIGG T @ A9 faRag |
(b) & TWIF @1 AW fafay o Py (fpenRreren) & 9oy (AX) @@ & faee
& IEANT BT T |

14 (a) Expand the abbreviation PEM. 2
(b) Write the Name of one disease caused due to PEM.
(a) @aWER 'PEM' &1 faega wq fafaw |
(b) PEM & &R B o fhel Th I &1 M fafaq |

15 Name the Phytohormones involved in the following functions : 2
(a) Helps in the elongation of stems in genetically dwarf plants.
(b) Delays fall of leaves.
frrfaRad yert  dfaa orew sl & 9@ fafeg -
(a) ONEf® &4 § 99 W"l & qF B T oM H GEAd |
(b) ufgal & R (F1e7) &l faafad & |

16 After a surgery, a man was advised to include more proteins and Iron in 2

his diet. Give reasons and also mention one source of each nutrient.

e Taferedt & ST gotfard TR @l oTae e | W aur @is (STR) &l offerh
T @ Bl IATE & TS | 39% B0 [aRaU T U Uk Hl Th—Teh Bld Ry |

17 Expand the following abbreviations and state how are they useful in 2
daily life ?
(a) CNG
(b) PNG
Pretffan Gawer & Qi frega w9 ¥ RRaw qom A e ¥ o SweiET
H ST DY |
(a) CNG
(b) PNG
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18 Distinguish between Mutualism and Symbiosis. Write one suitable example 2
of each from animal world.

FEITRITAT qoT Fesiiteadr & s ofay (fade) ST | qoiera 8§ Qe & e
U I AT faRaw |

19 Distinguish between Antigen and Antibody. 2
gaew (Weem) qunr wfafs (daere)) § fade #ifg |

20 Where can you locate the following structures in plants ? 2
(a) Perianth
(b) Bulliform cells
deil ¥ Prefefan weeTd wE W W ¥ 7 o emRefy fefeg
(a) dREd g
(b) gwlwH Hifirebrd

21 (a) With the help of a flow chart show the Calvin cycle. Write the names 4
of the main products formed in this cycle.
(b) Where does this cycle take place in plants ?

(a) YATE 3E Bl TEIAT § Hieas °eh Bl &IV HINTT | 39 °h & I MR
J&I ARl & W farey |
(b) e ¥ TE Tk wel U BT & 7

22 With the help of well labelled diagrams distinguish between : 4
(a) Androecium in Peaflower and Hibiscus.
(b) Venation in the leaves of Dicot and Monocot plants.

AHithd sl bl e @ N o " $iay WE @i

(a) WX % QT qAT Sed &b GHT
(b) Tl gen uahdeeEN qdl @ kel § Brafam |

23 (a) Draw a neat diagram of the Male Reproductive system in humans and 4
label any six parts.
(b) Name the Male Sex hormone of man.
(a) WME T OF & @S & SAUIas 3@ S9EY q97 380 bl B: (6) A
! A BITSTT |
(b) Y& & X (dreW) WM &1 AW ey |
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24 Briefly explain the various steps involved in the mechanism of DNA 4

replication. Also draw a diagram to show the formation of new DNA strands.
geaT (DNA) wfagpfaes & fafa= ool &t saes dfia =amen fafeae | 7@ DNA
% M & WA @ SEHd HEue By |

25 (a)

(b)
(a)

(b)

26 (a)
(b)

(c)
(a)
(b)

(c)

27 (a)
(b)
(©)

(a)
(b)
(c)

What are Vaccines ? What do you understand by second generation 4

vaccines. Write the names of any two diseases for which these vaccines
are already in use.

Expand BCG and Mention its usage.
Fr ® T 7 fadw A9l % S ¥ oY @ wEed ¢ 7 UH I WM &
T fafew fmh fe ser swamr feer s @ ¥

BCG & qu M fdfay den 39k S & Sed ditsy |

Where are the two biodiversity Hot-SPOTS found in India ? 4

Distinguish between In-Situ Conservation and Ex-situ Conservation.
Also write one suitable example of each.

With the help of a suitable example, define the term Endangered species.
IR ® 1 Safafagar ge-—we ®Hel Raq €7

TR EXEO qAT G W W b 9 Sy Wiud HY | Ydh A
UH-THh Sareeu 1 fafaw |

A IIEA B GEEAAT F FHAIH Yodl bl G fAaRag |

Write the four characteristic features of Phylum Arthropoda. 6
Mention two aerial adaptations found in birds.

Write the scientific names of the following organisms.

(1) an egg-laying mammal

(i1)) Pea plant.

Ha aneiureT % OR g eifwa fafag |

qiEl # S % T Srge Bl I GO F I B |

Preafirfias it 3 e T R

(i) U sieys @l |

(i) HT & UEY |
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28 (a) Draw a neat and labelled diagram of the Excretory organs in humans. 6
(b) List the role of liver in Excretion. (2 points)
(c) Write the name the excretory organ in Cockroach.
(a) 9Ma & SEwE S H AWifRd fosr sERT |
(b) TS ¥ upd B e & B A Tewyel areE faRaw |
(c) faeraeer (@idia) & S o &1 AW faRag |

29 (a) With the help of a flow chart describe the steps involved in the 6
Coagulation of blood.
(b) Why is a person with blood group 'AB' called a Universal recipient ?

(c) Give an example of a lymphoid organ ? Name the two major types of
cells present in them and state the general function they perform in the
body.

(a) YATE TS B TSI ° T b JIbTB 0T (STH) Bl Hieham & fafyr= aon &1 guie
HINTT |

(b) R T — 'AB' A Afwd & WEE (Gifw) R @@ dwed © 7

(c) Tendll welienT o7 1 TaTeXer faRey | 379 IURAT T ThIK ol W BIfTentstl &
T fg &Y iR ¥ 9% Y farag |

30 (a) Explain the Sex Determination in Human. Differentiate between 6
Homogametic and Heterogametic individuals.

(b) A colour blind man marries a woman who has normal colour vision.
A son and a daughter born to them are colour blind. Explain this with
the help of a Self explanatory flow chart .

(a) W& 7 T Frafor @1 e SV | ag™e aar fawrg@eat & 99 siax
WE BT |

(b) TH Uiy Y& @ fyare wsw g ot G W F WY oA T | 9% Th
U3 T TH QA B S BT S, T ] FA quiy € | 39 UieEeAr sl e
YA O @ GEEal § B |

63/0S5/1-314-C | 8 ﬁ

For any help related to admission in NIOS please contact
SS Coaching @9935035316



	314 Biology_OSS_Aaaaa.pdf (p.1-8)
	314 Biology_OSS_B.pdf (p.9-16)
	314 Biology_OSS_C.pdf (p.17-24)

